BITHE 1

EB RO D Ay EIER

Zetkt
(BiA)

T BN OV 5 2 B
(10%)

e R

AT AR
AT AR
ST AR
AT AR
AT AR
ST AR
SRTEL
ST
ST
A 8 4F
SN 8 4F
SN 8 4F

4 1
5H
6 H
7H
8 H
9H
OH
1H
2 A
1H

7N

P N N = N = N = 0 = N = N = R0 = Ru = e =!

HHHHEHHEHEHHHBEHHEHH

FEIEEHHFEEHEHEEIAHE

ZeRekt
(BiAl)

THE B e OV 7 Y 2 B
(10%)

g

N oo 2

S0 8 4R
S0 8 4R
a8 4F
S0 8 4F
S0 8 4F
N 8 4F
SR8 A1
SR8 A1
SR8
09 4F
09 4F
N9 4F

4 H

6 H
7H
8 H
9H
0!
1H
2 A

I

FlEEBEHEEHEHEHRHIEEA

HHHEHHEHHHEHHHAEHA

FIEEEEHFEEBHEHEHIHEH

ZeRthkt
Bis)

TH BB b O 7 1 2 B
(10%)

W& o 2

N9 4R
N9 4R
A9 4E
N9 4R
N9 4R
A9 4E
SF94E 1
SF94E 1
SO
A FN104F
A FN104F
A FI104E

OH

N
N
=

FIE|lEEEEEHEEEEHEEZHE

HHEHEEHEEHEEHEH

HFIE|lEEEEEEEEEEIZEE







